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CTET Paper 2 - 22 December (Memory Based)

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Qo.

Q10.

CTET Paper 2 : CDP

Which of the following is true for social learning theory?
Ans: Children learn through observation

Children imitate their role models

Learning does not necessarily need to change in behavior

Which term did Bandura use to refer to the overall process of social learning?
Ans: Modelling

According to Vygotsky ,when adults adjust the support to extend the child’s current level of
performance, it is called
Ans: Scaffolding

Renu is a dancer. So she must possess
Ans: Bodily kinesthetic Intelligence

A child’s notebook shows errors in writing like reverse images, mirror imaging etc. Such a child is
showing signs of
Ans: Learning disability

According to NCF 2005, errors are important because they
Ans: Provide an insight into the child’s thinking and help to identify solutions

Which of the following is predominantly a heredity related factor?
Ans: Color of the eye

It is not a sign of being gifted.
Ans: Fighting with others

A creative learner refers to one who is
Ans: Good at lateral thinking and problem solving

According to NEP 2020, the foundation stage of education will be of
Ans: 5 years
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CTET Paper 2 : Mathematics

The mean of all X, X+3, X+ 5, X+12, X+15 is 15, find the value of x?

Ans: 8

How many line of symmetry are there in a rectangle?

Ans: 2

height of a cylinder is 14 cm, and radius is 5 cm, If we change height and radius and make new
cylinder then what will be the ratio of their volume?

Ans: 55:154

The perimeter of a circle and that of a square are equal, which is 44 cm. Find the ratio of their

area?

Ans: 14:11

Why does the teacher draw a rectangle on the grid paper?
Ans: A teacher draw a rectangle on the grid to make learning enjoyable.

CTET Paper 2 : Social Science

Largest latitude on the globe is
Ans: Equator

Which of the following places is unlikely to be affected by a cyclone?
Ans: Amritsar

Following which country, the concept of the preamble has been adopted in the constitution of

India?

Ans: United states

When is Kargil Vijay diwas celebrated?
Ans: 26 July

Which ruler first established his capital at Delhi?
Ans: Tomara ruler

Coals and petroleum found in types of rocks.

Ans: Sedimentary rocks

Military commanders who were given territories to governor in Vijaynagar were called
Ans: Amara-Nayakas
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